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I »vyr’s dictum: if the spinal cord is broken and most of the flesh comes off with it — n%21
a  ~N7Dn 27 support from n:1 vonar — if he does np*on with a knife, it is n% 11
i Explanation: if it were only a nav, the knife could “save it” from n%2) nkmMY = must be 1511
b  Counter: in that case, it isn’t a valid nvonw at all
i a27 77 due to nTon (cutting from inside out)
ii ~ ~27 due to NvT (pressure on the 1°0)
1 Note: 01 didn’t suggest no>17, as he holds that xvam P9n is valid for npon
2 And: ra1 didn’t suggest n1on; as nTon is related to nT5N — “rat”, who is hidden; this is overt
¢ ~27is bothered by »»1’s ruling for another reason - once it is dead, how can he perform np’on at all?
i Challenge (»2n): then how can he perform np*n on 9yn n%y, which requires nY12n — once 1 v is cut, it's dead
ii  Answer (¥37): in that case, he cuts the second 11n°0 for n972n mxn (for Myn nH1Y)
1 Challenge: if so, he should have to cut the skin— (which isn’t necessary) to fulfill n>7an mxn
2 Answer: only that which is indispensible for no'nw is required for n>7an (breaking skin is not 1oyn)
(a) Block: minority of a 10’0, which is not 20yn for nvnw (1133 1a1), yet is indispensible for ny7an
3 Rather: anything which is a consideration for no>’nw is a consideration for ny7an (< not skin)
iii  Answer (to 827's problem): he cuts the spinal cord but not the flesh with it and performs np5n
1 Support: ®v1 "9 (v. 1) and ®na describing npoon
(a) Note: in that Xn»92, 120 219/1°0 and W 117/D71W are invoked, including both 1327 and w”axy
(i) Note: this is either intended to include both opinions, or it follows v”ary — 02w 117:01V
d  S8ipw's ruling (::»72p1): if he broke a person’s spinal cord and most of the flesh came off with it, nn = bnxa xnon
i And: should one challenge from '9y’s death (without the flesh coming off) note (v. 2) that he was old and fat
e  jpny /1 if he tore a person open like a fish (even if he is still shaking) — considered dead = Ynxa xnvn
i pny 22 58ww 77 but only if he gutted him from the back
II  Various wounds that render an animal 1921 - even if it is still experiencing death-spasms (01279)
a  Sxmw if he cut it across the length or width
b  x7rif the leg was amputated and the socket was visible (when the animal was kneeling)
c 1N mban if they were decapitated; the spasms are like the lizard’s tail
i 5 full decapitation is meant
ii DN ‘T as per 9PN NY N>TaN
1 Question (7207 "1): does he mean like 1327's understanding of n57an (complete) — and he agrees with 5™?
(a) Or: does he intend w”"arv’s approach to n571an and he is at odds with 5"aw~?
2 Answer (or it may have been part of original dictum): per w"ar1 — at odds with 5w
d  Background: xn»71 with 3 interpretations of vawnd (v. 3)
i ooporr like nnna nRon — can’t be gyn nron, as 127pm distinguishes 9n N5y from Nyn nrovn
1 Awnz nxon: from pon (from v. 5), must be offered during the day and processed with right hand
(a) Yet: we might think that it also requires (only) 07w 11, like nnna nron — therefore, v. 4 compares nP*Yn to
nvpn; Nvpn is done to the head and body separately = np*on requires complete n97an
(b) " needs y2pny; if not, X"10 the comparison is for location — both have to be atop nam and vawni is y”nn
(c) Note: nrais inferred from v. 6, brought here incidentally
(i) And: processing with right hand is inferred from nana+yaxr
1. 7”m nnnd alone doesn’t give us “right”, np’on only mentions 113, not yaxx
ii ~ Snvpwr 77 like 90 nron — just as 9yn nron is killed from 97 Y1, similarly qwn n5y is killed at 9mvn Hn
1 9wn nrvm: only requires one 190 and no nY71an; therefore 12»pm distinguishes 91yn %y — 1o 2 and nY1an
iii ~ w7anr like 9n nron — just as he holds the body and head together and performs nxtn for y”nn, so too with y”ny
1 9wn nxvm: only requires one 1n'v; therefore y2pm distinguishes 91wn n%y — pan'o ‘a (but no nv1an)
2 Note: w"ar3 (and p"n) infer location of np*Yn from npYon::np*on (from myn nhy)
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